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P_nom = tf(1,[1 0]) P(s) = 1
K=1; s ’
K(s)=1 , 1 v
W2 = tf([1 0],[1.5]); Wals) = - |T| < war Y
1.5 $
D = ultidyn('Delta',[1 1]); P(s)K(s) ONZRRE
T = feedback(P_nom*K,1); (s) = m S
~ 1n REO BFW EARN UMD TR0 ok ALTH)
figure(l) P = (1+ A(s)Wa(s) P(s)K (5) e e 2
nyquist(P_nom*K*(1 + W2*D)) o
figure(2) ] =
hold on s 5 e “
bodemag(T) TRTO P15 (-10)% NN A
hold on EIZAHTRERIBTS : S
bodemag(1/W2) J» T(s)
O/NRMETE
13 s o) 14
file7 2.m ZX1T
P_nom = tf(1,[1 0]) P(s) =~
K=1; @ Figure3 = W % 1
K(s)=1 e BEO BRV AR MO FOMIO SoRW ALTH) B ‘S| < R Yo
W1 =tf([1],[1.50]); (e = L Dcds 2|08 E W]
=15 :
S = inv(1+P_nom*K) 1 - e
T(s) = 14 P(s)K(s) /:j_)b'lliﬁb
figure(3) 1
bodemag(S)
hold on
bodemag(1/W1)
H‘lf&ﬂ“c(md/s‘/ "
15 16
file7_3.m *EIT [gain_W1S,phase_W1S]=bode(omega,W1*S);
omega=logspace(-2,3,100); P(s) = 1 gain_W1S_dB=20*log10(gain_W1S(:));
s
= K(s)=1 [gain_W2T,phase_ W2T]=bode(omega, W2*T);
I‘}Z"{T“ LI 0D © . gain_ W2T_dB=20*log10(gain_W2T(:));
’ Wi(s) = —
W1 = ([11.[1.5 0]): 1o WISW2T=gain_W1S+gain_W2T;
W2 = ¢f([1 0L,[1.5]): Wa(s) = 1= gain_ W1SW2T_dB=20*logl 0(WI1SW2T(:));
1 figure(5)
D = ultidyn('Delta',[1 1]); T(s) = —————+— gut )
T= }::Ctﬂgzlc(k(l:e :c;r[n*l(])i)' ) L+ P(s)K(s) semilogx(omega,gain_ W1S_dB(:,1),'b');
; i P -y hold on
= F *, * .
:tlzli;v(lli\gl:i;g%j KA WD) semilogx(omega,gain_ W2T_dB(;,1),r");
- ’ hold on
figure(4) semilogx(omega,gain WISW2T_dB,'m'");
bodemag(Stilde) grid on
hold on
bodemag(1/W1)
grid on
(#:<) 17 18
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file7_4.m

(BRRRI] E—SHIBISDUNT, Wils) = © ELIEE, PHIBI(KP 71
T, KD =0, KI = 0)CA/NNXMEREE - F KPEH - SHLKPES
71, W1 S|, [WaT|, |W1S|+ |[WoT)| E#ﬁ[-}»c

L
KP = xxxxx;

KD =0;

KI=0;

0 o

omega=logspace(-2,3,100);
K = tf([KD KP KIJ,[1 0])

K_nom = 10;
T_nom = 0.0933;
P_nom = tf(K_nom,[T_nom 1 0]);
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(3R] E—HHEISDUT, Wi(s) = ELT=EE, PIHIE (KPEKT
f211 T, KD = 0)TA/NAMEBEZ -9 KP, KD &iffifz&7i0KP,
KDEE X, Wisl, [WaTl, [Wis| + [WaT| %44,

L
KP = xxxxx;

KD =0;

KI = xxxxx;
A

omega=logspace(-2,3,100);
K = tf([KD KP KIJ,[1 0])

K_nom = 10;
T_nom = 0.0933;
P_nom = tf(K_nom,[T_nom 1 0]);
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